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S AN U T SR AR TS AN

Assessing the yearly capital expenditure (CAPEX) related to fixed assets is a great challenge
when implementing of a regulatory costing model in the telecommunications sector. Given
the direct and sizeable impact on the resuliing tariffs and thereby the bottom line result of the
regulated operator, careful consideration is required when selecting a depreciation method and
the accounting for the cost of capital.

A well-accepted reference on regulatory cost modelling is the European Commission's
Recommendation on Accounting separation and Cost Accounting of 1998, which is currently
under review in the ERG Consultation of April 27%, 2004, The general objective is illustraied
in the following quote:

‘As stated several times in the text, the use of current cost evaluation is
intended to replicate the approach of a competitor in a market, which, willing
to contend shares or profits in that market, has fo offer services at a price that
allows him to recover current costs.”

The staternent above has identified the need for defining a depreciation method that provides
a good proxy for the depreciations that would be reflected in prices set in a competitive
environment. This will be handled in chapter 1, Economic Depreciation.

Furthermore the recommendation raises an important issue when deciding on a depreciation
method:

‘There are two different approaches to Current Cost Accounting (CCA). The
approaches differ in their definition of ‘Capital Maintenance’.’

The significance of the Capital Maintenance method and its implication on depreciation
methods are further analysed and commented on in chapter 2, Capital Maintenance.

Based on their experiences in regulatory cost medelling, BvD Management Consultants have
distinguished a number of depreciation methods that can be used for calculating a proxy for
economic depreciation, depending on the circumstances and specific services for which
regulatory cost models are developed. The depreciation methods that where identified,
analysed and evaluated, are:

1) Straight line method;

2) Tilted straight line method;

3) Annuity method;

4) Annuity method with capital gains and losses;
5) Tilted annuity method.

! Cf. Amex to the “Draft ERG Opinion on the proposed Review of the Recommendation on cost
accounting and accounting separation” — Draft text prepared by the IRG Working Group on Cost
Accounting.
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1. ECONOMIC DEPRECIATION

This chapter covers the issue of economic depreciation. First the concept of economic
depreciation is elaborated on. Thereafter several depreciation methods are analysed.

1.1. THE CONCEPT OF ECONOMIC DEPRECIATION

‘Economic depreciation’ corresponds to the depreciation that an operator would take into
account in a fully competitive telecommunications market.

From this description, BvD Management Consulting derived the following characteristics of
‘economic depreciation’;

1) An economic depreciation methodology results in a yearly capital expenditure
(CAPEX), i.e. depreciation and cost of capital, that ensures the recuperation of the
initial investment and a reasonable remuneration of the capital employed, but without
any further profit or loss:

The Net Present Value (NPV) equals the initial investment, i.e. the NPV of
the yearly CAPEX in each year of the asset’s lifetime discounted back to the
year of investment at a discount rate equal to the WACC.

2) The CAPEX is consistent with the change in the underlying production costs that a
new entrant would experience.

The first characteristic resulis from the assumption that:

- The investment would not have been made, if it would have been expected that the
initial investment plus a reasonable remuneration of the capital employed can not be
recuperated and by consequence, losses would be made;

- Full competition would ensure that not more than the initial investment (incl. a
reasonable return on the capital employed) can be recuperated.

The second characteristic indicaies that, if the operator lives in a competitive world, costs
need to be aligned with the costs of an efficient new entrant and this during the whole lifetime
of the investment. This implies that an operator should stay competitive in the second year
even if in that second vear, a new player can invest at lower (higher) prices. By consequence,
in the first year ‘deflationary costs’® (‘inflationary benefits’™®) should be included in the total
costs of the operator, so that he can remain competitive during the second year as well.

? ‘Deflationary costs’ refer to the extra costs that an operator needs to take into account in year X when
lower prices (referred to as ‘deflation”) for the equipment used are expected for year X+1. After all, the
value of the equipment will be less in year X+1 than in year X; this value loss is reflected in an extra
cost in year X which brings the remaining cost for the equipment at the same level of the market prices
in year X+1.

* ‘Inflationary benefits” are the opposite of *deflationary costs’. They refer to the extra benefits that an
operator needs to lake into account in year X when higher prices (referred to as ‘inflation”) for the
equipment used are expected for year X+1. In the case of inflationary benefits, the value of the
equipment will be higher in year X+1 than in year X; this value gain is reflected as an extra benefit in
vear X that brings the remaining cost for the equipment at the same level of the market prices in year
X+,
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1.2. THE STRAIGHT-LINE METHOD

The simplest depreciation method is the straight-line method: the investment is evenly written
off over the whole lifespan of the asset. As a result the depreciation cost is the same each
year.

The cost of capital of the investment is however not yet included in this calculation.

Hence a first possibility is to incorporate the cost of capital based on the Net Book Value
(NBVY); in practice that comes down to multiplying the NBV by the weighted average cost of
capital (WACC). Such a method causes however an enormous blow in the cost of capital
when a totally depreciated good is replaced by a new good with full NBV. This shock is
difficult to defend economically. First the provision of services remains basically the same,
but the price (cost) fluctuates. Secondly the timing difference of competitors causes an
imbalance in the production costs of the different market players, which contradicts the
second characteristic of economic depreciation.

A second possibility is to avoid this shock by the incorporation of the cost of capital based on
the average NBV over the whole lifecycle, which can be justified by the assumption that the
age of the assets is uniformly distributed over the lifetime of the asset. Consequently the
average, expected NBV corresponds to half of the initial investment.

As the cost of capital in that case is considered constant over the total lifetime and the annual
depreciation is also taken a constant, the annual cost is also a constant over the total lifetime,
which corresponds to an annuity*,

Example
CostolCapltal: .~ -+ -
i ibdsedian. “- Totaal ©.
awrageNBV) o

[ 100,00 100,60
i 0,999 95,00 98,00 5,00 10,00 15,00] 5,00 10,00
2 6,826 90,00 08,01 5,00 9,50 14,50) 5,00 19,00
3 0,751 85,00 97,03 5,00 9,00 14,00 5,60 10,00
4 0.883 80,00 96,06 5,00 8,50 13,50 5,00 10,00
5 0.621 75,00 95,10 + 5,00, 8,00 13,00] 5,00 10,00
6 0,564 70,00 94,15 500 7.50 12,50] 5,00 10,00,
7| 0,513 55,00 93,21 5,00 7,00 12,00] 500 10,60
3 0,467 40,00 92,27 5,00] 8,50 11,50 5,00 10,00
) 0,424 65,00 91,3 5,00 E,00 11,00 6,00 10,00
10 0.388 50,00 90,44 5,00 5,60 10,50 5,00 10,00
T 0,350 45,00 89,53 5,00 5,00 10,00, 5,00 10,004
12 0,319 40,00 88,64 5,00 4,50 9,50 5,00 10,00)
13 0,290 35,00 87,75 5,00 4,00 9,00 5,00 10,004
4 0,263 30,00 88,87 5,00 3,80 8,504 5,00 10,00]
i5 0,239 25,00 86,01 5,00) 3,00 8,00) 5,00 10,00
16 0,218 20,00 85,15 5,00 2,580 7.50] 500 10,001
17 0,198 15,00 84,29 5,00} 2,00 7,00 5,00 19,00
18 0,180 10,00 83,45 5,00] 1,60 6,50 5,00 19,00
19 0,164 5,00 82,62 5,00 1,00 6,00) 5,00 10,00
20 0,148 0,00 81,79 5,00] 0,50 5,50 5,00 10,00
0,00 100,00] 100.&' 85,14

Accumulated Nef Present Net Pragent
Aesidual value depraciation Value Valua

Fable 1; Straight-line method (HCA)

* The annuity method is very much used in the financial world with which a constant amount is paid at
regular intervals during a certain time period to reimburse a borrowed amount.
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BvD Management Consulting uses the same example throughout the document, namely an
initial investment of 100 with an expected lifetime of 20 years and without residual value. In
addition the weighted average cost of capital (WACC) corresponds to 10% of the capital
employed. Moreover an annual price trend of -1% does apply.

Table 1 illustrates the example of the straight-line method with both possibilities for the cost
of capital. The NBV is annually reduced by the depreciation amount, which spreads the total
investment in equal amounts over the whole life duration. Then the cost of capital is
calculated and added to the depreciation. In a first case the cost of capital is calculated with
the actual NBV, in a second case with the average NBV. The latter resulis clearly in a
constant annual cost.

The Net Present Value (NPV) is subsequently calculated using the discounted antial cost.
The Discount factors are given in the second column of the table. The NPV calculated with
the method using the cost of capital assimilated to the NBV corresponds to the initial
investrent cost. In other words this investment costs are airly compensated with an average
profit, in contrast to above average or below average profits. The NPV calculated with the
method using the cost of capital assimilated to the average NBV gives however a lower
amount than the initial investment, in other words the investment cost is insufficiently
compensated, A method whereby a constant annual cost results in an NPV equal to the initial
investment will be discussed in section 1.3 The Standard annuity.

Note that both possibilities of the Straight-line method do not satisfy the second characteristic
of economic depreciation: consistency with the changes in the underlying production costs
that a new entrant would experience. Let us take the example of a new entrant making an
investment in year 2. Since the price trend amounts to -1% he will have to invest only 99
instead of 100. As a consequence the yearly depreciation amounts to 4,95 (= 99/20). Since
this is lower than what is paid by the incumbent (= 100/20 = 5), the new entrant has a
competitive advantage. Adjusting the Straight-line method needs the adoption of Current Cost
Accounting (CCA) instead of the Historical Cost Accounting (HCA) implicit used in the
example above, a further adjustment will result in the Tilted Straight-line method (see section
1.4 The Tilted straight-line method).

HCA versus CCA

The example above implicitly used HCA, however CCA is the Recommendation of the ERG.
BvD now reworks the example above to use CCA.

Example

Table 2 illustrates the example when applying Current Cost Accounting for the two possible
implementations. The NBV is annually reduced by the depreciation amount, which spreads
the replacement value over the asset lifetime. Then the cost of capital is calculated and added
to the depreciation.

Current Cost Accounting results for both possible implementations of Siraight-Line
depreciation in Accumulated Depreciations lower than the initial investment and a Net
Present Value lower than the initial investment. As such the initial investment is not fairly
remuneraied and thus the first characteristic of ‘Economic Depreciation’ is not satisfied. BvD
will comment on an adjusted Straight-line method in section 1.4 The Tilted straight-line
method.
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Slralghtlne(GEAY ..© ... .. RN R
T R T T e e T Gos] ok Galtal
Year Biscount fadtor. | - Ngw, - PepRcemenl oo |« CostoRCRBlal - gamey 1 (pasedion | Totaal"
o R ST valig, t o EEEER L (pasedion NBN). ' sieimge VY 3

0 100,00 100,00

1 0,969] 95,05 99,00 4,96 10,00 14,95 4965
z 0,026] 90,15 98,01 4.9ut 9,51 4,41 4,90
3 0,751 85,30 97,04 4,85 9,01 13,87 4,85
4 0,683 80,50 96,08 4,80 8,58 13,39 4,80
5 0,621 75,74 95,10 4,75 8,06 12,80 475
6 0.564 71,08 84,5 4,74 7,57 12,28 471
7 0,518 6,37 9,21 4,66 7,10 11,76 4,68
8 0,467 81,76 92,27 4,61 6,84 11,25 4,61
g 0,424 57,18 91,36 4,57 8,18 10,74 4,57
16 0,386 52,67 90,44 4,52 5,72 10,24 4,52
1i 0,350 48,19 89,53 4,48 8,27 9,74 4,48
12 0,319 48,76 86,64 443 4,82 9,25 4,43
13 0,290 39,37 87,75 439 4,38 8,76 4,39
14 0,263 36,08 86,87 2,34 3,04 8,28 4,34
15 0,239 20,73 28,01 4,80 3,50 7.80) 4,30
16 218 26,47 85,15 4,28 3,07 7.33 426
17 0,198 22,26 84,29 42 2,65 6,86] 421
18 a,180) 18,08 83,45 4,17 2,23 8,40) 4,17
19 6,164 13,95 82,62 4,19 1,81 5,94 4,13
20 0, 1461 9,86 81,79 4,09 1,40 5,48 4,09

0,86 90,1 6,59
Accurmulated Net Prasent Net Present
Flesiclial value depreciation Value Vale
Table 2: Straight-line method (CCA)
Example

Table 3 shows an alternative implementation of the CCA Straight-line method: the Price
Trend is now also taken into account when calculating the NBV. The NBV of the previous
year is first adapted to follow the price trend, i.e. multiplied by (1+Price Trend). Afterwards
the depreciation is deducted to obtain the NBV of the current year. The only difference with
the previous method is the NBV and the Cost of Capital on NBV.

L Yeat | Discountagtor.{ GAPEX {basedién.” Totaal: -
RN FRRS e L L E ‘-ava_raga"NBV)ﬁ- S
[7] 100,00
1 2,908 94,05 10,00 14,85 4,95 9,90
2 0,828 8821 941 14,31 4,90 9,80}
3 0,751 82,48 8,82 13,67 4,85 9,70)
4 0,683 76,85 8,25 13,08 4,80 9,81
5 0,621 7132 7,68 12,444 4,75 951
B 0,564 65,90 713 11,84} 471 6,41
7| 0,513 60,58 6,59 11,25 4,66 9,32
8 0.467| £5,36 6,08 10,67| 4,61 923
2 0.424 50,24 5,54 10,19 4,87 9,14
10 0,386 45,22 5,02 9,58 4,52 9,04
11 0,350 40,28 4,52 9,00] 4,48 8,95
12 0,318 35,46 4,03 8,48 4,43 8,88
13 0,290 30,711 3,55 7.93 4,39 8,78]
14 0,263 26,06 3,07 7,42 4,34 8,69
15 0,238 21,50 281 6,94 4,20 8,e0|
18 0,218 17,03 2,15 6,41 4,28 8,51
17 0, 193] 12,64 1,70 5,92} 421 8,43
18 0,180 8,35 1,26 5,44 417 8,35
i9 0,164 4,13 0,83 4,97| 4,13 8,26
20 0,145 0,00 0,41 4,50 4,09 8,18
00 90,14 94,50 75.09|
Resica vatie Accumulated Nat Fresent r Net Prasent
{ iali Value Value

Table 3: Straight-line method (CCA), with revaluation of NBY

1.3. THE STANDARD ANNUITY

The Straight I.ine method with a Cost of Capital on the Average NBV is probably the most
straightforward method of depreciation. However the recuperation of the initial value is not
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guaranteed. A similar method, but with a fair remuneration, is the standard annuity: it has also
a constant annal cost and an NPV equal to the initial investment.

Example
T Standard annuity:(HGA) . N .
.3 Year, - | Discountfdstor E_‘?p\l;;clﬁ:?"f : NBYV. =" GCAPEX . . GéstafiCapilal. . Depteclalion
bl "~ 100,00 100,00
1 0,969 99,00 98,25 11,75 10,00
2 6,826 98,01 96,33 11,75 9,83
3 6,751 97,03 94,22 11,75 9,63
4 0,683 96,06 §1,80 11,75 9,42
5 0,621 95,10 89,34 11,75 9,19
& 0,564 94,15 86,53 11,75 8,93
7 0,513 93,21 83,44 11,75 8,65
a 0,467 92,27 80,03 11,75 8,34
E:] 0,424 91,35 76,29 11,75 8,00
10 0,386 90,44 72,17 11,75 7,68
i1 0,350 §9,53 67,65 11,76 7,22
12 0.318 88,64 62,66 11,75 6,76
13 0,290 87,75 57,18 11,76 6,27
14 0,263 86,87 51,16 11,75 5,72
15 6,239 85,01 44,53 1,75 512
16 0,218 85,18 37,23 11,75 4,45
17 0,158 84,29 282 11,756 3,72
18 0,180 83,45 20,39 11,75 2,92
18 0,164 8282 10,68 11,75 2,04
20 0,143 81,79 0,00 11,75 1,07
0,00 100,00 1 UU,O_U
Rasidual Value Netgf*le}:ent Accumulated depraciation

Table 4: Standard Annuity (HCA)

The annuity method calculates the CAPEX (5th column of Table 4) as follows:

CAPEX = InvestmentX ” WACC =
1- (/1 + WACC)

with N the total lifetime of the Asset

The depreciated amount (last column) follows by reducing the anpual cost (5th column) by
the cost of capital (6th column), which is based on the NBV (third column) at the end of the
previous year. Reducing the NBV by the depreciated amount determines the NBV at the end
of the current year. Through this calculation it appears not only that the NPV is equal to the
initial investment, but also that the total amount is written off at the end of the lifetime.

Remark that in year 2 an investment of only 99 instead of 100 is needed. As a consequence an
operator investing in year 2 will face a lower annual cost, which is in contradiction to the
second characteristic of the economic depreciation: consistency with the changes in the
underlying production costs that a new entrant would experience. Adjusting the Standard
Annuity method needs the adoption of Current Cost Accounting (CCA} instead of the
Historical Cost Accounting (HCA) implicit used in the example above, a further adjustment
will result in the Standard Annuity method with capital gain/loss (see section 1.5) and in the
Tilted Annuity method (see section 1.6).

HCA versus CCA

The example above implicitly used HCA, however CCA is the Recommendation of the ERG.
Therefore BvD now reworks the above example to use CCA.
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Example
. ;- Standardannuity:(CCAY: .- . . N L
"I Year . "} Discount factor H?P\I‘fljﬁ:-en.t iV Voo GAPEX: . CostorCapltal: Depresiaticn
I ~ 100,00 100,00

7 2,909 99,00 §7.27 11,63 10,00 1,79
2 0,826 98,01 94,42 11,51 9,73 1,88
3 0,751 97,03 9142 11.40 9,44 2,08
4 0,883 95,06 8g,28 11,28 9,14 2,25
5 o621 95,10 84,98 11,17 8,83 2,43
[ 0,564 94,15 81,47 11,08 8,50 2,65
7 0,513 893,21 T 10,95 8,15 2,88
8 0,487 92,27 73,85 10,84 7.78 4,14
g 0,424 91,35 69,69 10,73 7,39 342
12 0,386 90,44 65,27 10,62 6,97 3,72
11 0,350 89,53 60,57 10,52 6,563 4,05
12 0,319 88,64 55,04 10,41 6,06 4,42
13 0,280 87,75 50,18 10,31 5,55 4,81
4 0,263 88,87 44,44 10,20 5,02 524
15 0,239 86,01 38,30 10,10 4,44 5,70
16 0,218 85,15 31,70 10,60 4,83 6,21
17 0,158 84,29 24,82 9,80 3,17 6,76
18 0,780 83,45 17.01 9,80 2,46 7,36
19 0,164 82,62 8,82 9,70 1,70 8,624
20 0,149 81,79 0,00 9,61 0,88 8,73]
0,00 92,66 87,44

Net Pressrit Accumulated

Residual Value Value depreciation

Table 5: Standard Annuity (CCA)

Table 5 shows the behaviour of the example when applying Current Cost Accounting on the
Standard Annuity method. Each year the CAPEX is determined starting from the replacement
value instead of the initial investment. The calculation of the NBV is now adjusted to reflect
better the residual economic value of the asset: NBV, = NBV,; x (I+Price change) —
depreciation.’

The Current Cost Accounting in Table 5 results in an Accumulated Depreciation lower than
the initial investment and a Net Present Value lower than the initial investment. As such the
initial investment is not fairly remunerated and thus the first characteristic of ‘Economic
Depreciation’ is not satisfied. BvD will comment on an adjusted Standard Annuity method in
section 1.5 The Standard annuity with inflationary benefits/ deflationary losses and section
1.6 The Tilied annuity method.

1.4. THE TILTED STRAIGHT-LINE METHOD

None of previous methods satisfies both characteristics of Economic Depreciation. Therefore
the pursuit of BvD continues and leads to the Tilted straight-line method (section 1.4),
Standard annuity method with inflationary benefits/ deflationary losses (section 1.5) and
Tilted Annuity Method (section 1.6}.

The Tilted Straight Line method is based on the Straight Line method, but adds an extra
term/tilt: a correction of the CAPEX due to costs/benefits caused by price changes of the
underlying asset. As such they will be called costs of deflation (benefits of inflation) in the
remainder of the text. The Tilted Straight Line corrects the Straight Line depreciation so that
it complies with the second characteristic of ‘Economic Depreciation’, implemented in such a
way that a new entrant will suffer similar annual costs if assets are depreciated Straight-line
from that moment on. Note that the laiter is a key assumption.

SThis document uses Managerial Accounting, ie. Cost Accounting, as opposed to Financial
Accounting. Therefore the Net Book Value should not be seen as a financial account, but rather as the
expected remaining economic value.
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The loss (gain) due to the revaluation of the assets results in a cost (revenue) equal to NBV x
(-Price evolution). If this cost can be recuperated during the year on top of the usual
depreciation cost, then the operator can also be competitive the following year in front of a
new entrant. The Straight-line depreciation cost is calculated on the base of the replacement
value of the asset after deflation (inflation), i.e. the replacement value at the end of the year.

The formula for the determination of the depreciation according to Tilted straight line method
thus becomes:

'Tilted straight line = Book Valuex (— Price evolution )+ ma—"%m%

with N the lifetime of the asset

Note that this method only determines the depreciation cost. As a consequence the cost of
capital still needs to be added, which can be seen as an issue separate from the Tilted Straight-
line method. The issue was already highlighted in section 1.2 and the proposed methods can
be summarised as:
- The first possibility was to incorporate the cost of capital based on the NBV.
Such a method causes however an enormous blow in the cost of capital when
a totally depreciated good is replaced by a new good with full NBV. This
shock is difficult to defend economically.
- The second possibility did avoid this shock by the incorporation of the cost of
capital based on the average NBV over the whole lifecycle. Though the
disadvantage is that the NPV falls below the initial investment cost.

Tined sraighiling .- - T N
RN o 3,00 CostofGaplle e
FEg Cosl.okCaplial, - based o NB
[I;;Pc::aa::hari o “ibased GnMBY-." " agjusied for pr :CAPE*,-
U i Prvechengs: . .. o0 changelosg .
[1] h
7 0,905 94,05 99,00 -1,00 4,85 0,10 9,90 10,00 15,85
2 0,828 88,81 98,01 -0,84 4,90 -0,08 a1 9.4 15,25}
3 0,751 82,48 97,03 0,88 4,85 -0,08 B73 B33 14,55]
4 0,683 76,85 98,08 -0,82 4,80 -0,08 8,17 8,25 13,88}
5 0.621 7132 95,10) 0,77 4,75 0,08 781 7,68 13,21
& 0,584 65,90 24,15 0,71 471 -0,07 7,08 713} 12,55
7| 2,513 60,58 93,21 0,65 4,68 0,07 8,62 8,59 11,9
a 0467 55,38 82,27 061 461 -0,08 6,00 6,06} 11,28]
g 2,424 50,24 91,35 0,55 457 -0,08 5,48 5,54 10,68
10| 0,386 45,22 90,441 0,50 4,52 -0,05 497 5,02] 10,08
11 0,350 40,29 89,53 -0,45 4,48 -0,05 448 4,53] 9,45
12| 0,315 3546 88,64] -G48 4,43 0,04 329 4,03] 8,86}
13] 0,290| 30,71 87,75 -0,35 4,39 0,04 3,51 3,55 8,29)
i4 0,263 26,08 88,87 03 4,34 -0,03 304 3,07 7,72
15 6,239 21,50 86,01 0,26 4,30 0,03 258 2,61 77
bl 2,218 17,03 85,15 0,22 4,26 0,02 213 2,15 6,62
17| 0,1498| 12,64 84,29 -0,17 421 0,02 1,69 1,70 6,09
181 3,180 B35 63,45 -0,13 17 -2,01 1,25 1,26} 5,56]
18 4,184, 4,13 82,624 -0,08 413 0,01 0,83 0,89 5,05
20 0,148) 0.00 81,79, 0,04 4,00 0,00 o4 [E) 4,54
0,00 100,00}
Resicual Net Prasent
vaiug Value

Table 6: Tilted Straight-line method

Table 6 reflects the required calculations. Following CCA, the Straight-line depreciation is
based on the replacement value of the year considered. Total depreciation is the sum of the
Straight-line depreciation and a compensation for the inflationary benefit/ deflationary loss,
which comes down to the price change on the NBV of the previous year: NBV of year n-1 x
Price change. Then the NBV of the current year can be determined as NBV, = NBV,, -
inflationary benefit/ deflationary loss - depreciation. Finally adding the cost of capital should

10

P143



SRS VAR SR

not be forgotten. Only the cost of capital based on the actual NBV is illustrated in the table.
Note that the method depreciates the whole investment and results in a NPV equal to the cost
of the initial investment.

Moreover a new entrant will still experience another annual cost, when in the year considered
the price rend is different from 0%. In the example with a constant price trend of 1% a new
entrant will write off 3,89 in the second year (= 4,90 + 1% x 99,00), opposed to the 5,84 of
the incumnbent (= 4,90 + 1% x 94,05). A new entrant witl write off 4,92 in the twentieth year
(= 4,09 + 1% x 82,62), opposed to the 4,13 of the incumbent (= 4,09 + 1% x 4,13). The
second characteristic of Economic Depreciation is thus only satisfied under specific
circumstances.

The difference in depreciation between the incumbent and the new entrant is due to the
difference in NBV, which brings us to another problem. Using the tilted straight-line method
requires the NBV, not the NBV from the financial accounts®, but the NBV obtained when the
tilted straight-line method is consistently applied since the day of the acquisition of the asset.
Note that this NBV could also be determined as the replacement value multiplied by the ratio
of the time in use to the total lifetime of the asset, or as the remaining asset life times the
yearly Straight-line depreciation. As a consequence the age of the asset is sufficient to
determine the NBV.

BvD concludes that applying the Tilted Straight Line method raises a number of questions,
namely how to determine the cost of capital, how to estimate the NBV and is it reasonable to
assume that the price trend for the coming years will be 0%?

1.5. THE STANDARD ANNUITY WITH INFLATIONARY BENEFITS/ DEFLATIONARY LOSSES

The Standard Annuity method with Inflationary Benefits/ Deflationary losses is based on the
Standard Annuity method as the name says, and adds an extra term so that it complies with
the second characteristic of Economic Depreciation: a correction of the CAPEX due to the
costs of deflation (benefits of inflation). The Tilted Straight Line corrects the Straight Line
depreciation in such a way that a new entrant will suffer similar annual costs if assets are
depreciated following the Standard Annuity method from that moment on. Note that the latter
is a key assumption.

Example
The CAPEX (column 8} in Table 7 is the sum of three parts:

CAPEX calculated on the basis of the replacement value (Column 5)
The formula employed is:

CAPEX

on replacement value

WACC

= Replacement value

- 1+ WACC)N

with N the total lifetime of the Asset

Delta Cost of Capital (Column 6)

 This document uses Managerial Accounting, i.e. Cost Accounting, as opposed to Fimancial
Accounting. Therefore the Net Book Value shounld not be seen as a financial account, but rather as the
expected remaining economic value.
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The Cost of Capital is implicitly included in the annuity and therefore based on the
replacement value of the year considered (column 3). The capital required should
however be based on the capital needs at the beginning of the year/ the end of the
previous year. The first year for example requires capital equal to 100, and not 99.
Therefore the annuity is increased with a delta Cost of Capital, equal to delta value of
the asset x WACC. The NBV (column 4) represenis the value of the asset and thus
the delta value of the asset is NBV x {-Price evolution). Thus finally the delta Cost of
Capital is determined as NBV x (-Price evolution) x WACC.

Inflationary benefits/deflationary losses (Column 7)
Furthermore is the CAPEX augmented with a compensation for the inflationary
benefits/ deflationary losses, equal to NBV x (-Price evolution).

'Table 7; Standard Annuity with Inflationary benefits/ Deflationary losses

The Standard Annuity Method with Inflationary benefits/ Deflationary losses results in an
accumulated depreciation and a NPV equal to the cost of the initial investment. As such the
method is in line with the first characteristic of Economic depreciation: the recuperation of the
investment cost and the reasonable remuneration of the capital employed is guaranteed,
without any additional profits (losses) on top of the average rate of return.

The second characteristic of Economic Depreciation however is not always guaranteed, since
a new entrant will experience a different cost, when in the year considered the price trend is
different from 0%. In the example with a constant price trend of —1% a new entrant will have
a CAPEX of 12,60 in the second year (= 11,51 + 99 x 10% x 1% + 99 x 1%), opposed to the
12,58 of the incumbent (= 11,51 + 97,27 x 10% x 1% + 97,27 x 1%). A new entrant will write
off 10,51 in the twentieth year (= 9,61 + 82,26 x 10% x 1% + 82,26 x 1%), opposed to the
9,70 of the incumbent (= 9,61 + 8,82 x 10% x 1% + 8,82 x 1%). The second characteristic of
Economic Depreciation is thus only satisfied under specific circumstances.

The difference in depreciation between the incumbent and the new entrant is due to the

difference in NBV, which brings us to another problem. Using the Standard Annuity method
with Inflationary benefits/ Deflationary losses requires the NBV, not the NBV from the

12

- oo Slandard annully With Inflalionary.benelltsr DoNalGnaty losses: T
i:| ‘Replacement. - L0 TGAPEXOn - T DeltaCostpf. . CIRfallanary benefilef - N T :
Lo | vaie o NBY  oimcamenvaiie ' Gapilal . Detsioarylosses - TOW CAPER] cppyy - Dopreclafion
0 100,00 100,00
1 0,908 9,00 97,27 11,69 0,10 1,00 12,73 10,00 2,73
2 0,826 88,01 94,42 11,61 0,10 0,87 12,58 9,72 2,86
3 0,751 67,02 9142 11,40 0.09 0,84 12,44 944 2,99
4 0,683 96,08 88,28 11,28 9,09 0,91 12,29 9,74 3,15
5 6,621 25,10 84,96 11,17 0,09 0,88 12,14 883 3
[ 0,564 24,15 81,47 11,06 0,08 0,85 11,93 8,50 3,50
7 0,513 52,21 77,77 1085 0,08 0,81 11,84 8,16 3,70
8 0,457 92,27 73,85 10,84 0,08 0,78 7.78 3,92
] 0,424 91,35 69,69 10,73 0,07 0,74 7,39 4,18
19 0,386 90,44 65,27 10,62 0,07 0,70 6,97 4,42
11 0,350 82,53 80,57 1052 0,07 0,65 6,53
12 0,319 88,64 55,54 1041 0,08 0,61 606
13 0,250 87,75 50,18 10,31 0,06 0,56 555
14 0,263 86,87 44,44 10,26 0,05 0,50 5,02
15 0,235 86,01 38,30 10,10 0,04 044 444
16 0,218 8515 370 10,00 0,04 0,38 3,83
17| 0,198 84,29 24,82 9,90 0,03 0,32 3,17
18 0,180 83,45 17,01 9,80 0,02 0,25 246
19 0,164 82,62 8,82 9,70 0,02 0,17 1,70
20 0,149 81,79 0,00 8,61 0,01 0,08 0,88
[iKil) 100, 160,00
Rasidual Net Present Accumuiated
Valig Valug depraciation
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financial accounts’, but the NBV obtained when the Standard Annuity method with
Inflationary benefits/ Deflationary is consistently applied since the day of the acquisition of
the asset.

Note that this NBV could also be determined as the NPV of the CAPEX of the remaining
years of the asset, with all the CAPEX equal to the Standard Annuity on the replacement

value of the current year. As a consequence the age of the asset is sufficient to determine the
NBYV.

Example
In year 10, the replacement cost is 90,44. The CAPEX on the replacement value is then

calculated to be 10,62, The assumption of the Standard Annuity method with Inflationary
benefits/ Deflationary losses is that the asset’s life extends to year 20 and the replacement
value remains the same. Therefore 10 years with a CAPEX equal to 10,62 remain. The NPV
can then be calculated to be 65,27, which indeed equals the NBV of year 10.

Replacement Value CAPEX

Year 11 90,44 10,62
Year 12 90,44 10,62
Year 13 90,44 10,62
Year 14 90,44 10,62
Year 15 50,44 10,62
Year 16 90,44 10,62
Year 17 90,44 10,62
Year 18 90,44 10,62
Year 18 90,44 10,62
Year 20 90,44 10,62

NPV 65,27

Note that another method could be constructed based on the Standard Annuity method with
inflationary benefits/ deflationary losses, namely by using an estimate for the NBV instead of
the actual NBV. A good estimate of the NBVE could be half of the replacement value.

Example

The calculations in Table 8 are much the same as in Table 7 except for the two items based on
the NBV. The changed formulas are given below:
- Delta Cost of Capital (Colurmn 6): Estimate of NBV x (-Price evolution) x WACC
- Inflationary benefits/deflationary losses (Column 7):
Estimate NBV x (-Price evolution).

The advantages of the adjusted method are that:
- the NBV is not anymore required;
- the CAPEX evolve at the same rate as the price change. In the example above
it means decreasing at -1%.
- the CAPEX does not jump at replacement of an old asset by a new one.

7 This document uses Managerial Accounting, ic. Cost Accounting, as opposed to Financial
Accounting, Therefore the Net Book Value should not be seen as a financial account, but rather as the
expected remaining economic value.

8 Note that determining the best estimate of the NBV allows a great flexibilicy in the design of a
depreciation method. Elaboration on the matter is unfortunately not suited for the current document.
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T g Blandard annuity. vt INTENonary-beney ls: ﬁeilnlnrmnr [EH R i ; )
K Discnum. Ftanacemen! oy GAPEXan Della Cesl 51 Inflahianarybsnellls.’ p Goslal . “p o oo -
- Yeer factor Malg .NBV .- replacement value . - ‘Capital: - Déllalionary: 05525 T laL GAPEX: capilaf _Depreclall(.m

0 1OD 00 100,00
i 0,909 99,00 57,83 11,63 0,05 0,60 12,17] 10,00 2,17
2z| 0,826 88,01 95,56 e 0,08 049 12,09 978 2,27)
3 0,751 97.03 93,18 11,40 0,05 0,49 11,93 8,56 2,37
4 0,662 96,05 50,69 1,28 0,05 0,48 11,81 9,32 2.49)
& 0,821 85,10 86,07 1,17 0,08 0,48 11,68] 9,07 2,62
) 0,564 04,15 86,30 11,06 0,05 047 11,58 881 277
7 0513 03,21 82,37 10,96 0,08 0,47 11,45] 853 2,93
& 0,487 9227 78,26 10,84 0,05 0,46 11,35 B.24 311
g 0424 .35 75,95 10,73 0,05 046 11,23 7,93 33
10| 0,385 80,44 742 10,62 005 0,45 1,12 759 3,53
134 5,350 89,53 68,66 10,52 0,04 0,45 101 7.24 3,77
12 6,318 88,64 64,62 o4 0,04 044 10,80 6,87 4,03
13 0,299 87,75 60,30 10,31 0,04 044 10,79 646 433
14 0,263 86,87 55,64 10,20 0,04 043 10,89 6,03 4,65
5 0,239 BE,01 50,63 10,10 0,04 0,43 10,58 5,56 5,01
5 o218 85,15 45,23 10.00 0,04 043 10,47 5,06 541
i7 0,198 84,29 39,38 0,90 .04 042 10,36 4,52 5,84
8 0,180 83,45 33,06 9,80 0,04 0,42 10,28 3,94 6,32
1 0,164 82,62 28,21 970 0,04 041 10,18 331 6,85
20 0,149 81,79 18,77 961 0,04 041 10,08] 262 74
18,77 B7,21 il zJa
Aasidual Ne! Present Accurnuiated
Valhse Vatie depreciaiion

Table 8: Standard Annuity with Infiationary benefits/ Deflationary losses based on average NBV

Section ‘1.6 The Tilted annuity method’ presents a method that incorporates the advantages
above, but in addition has a NPV equal to the initial investment (First characteristic of
“Economic Depreciation’.’

1.6. THE TIL.TED ANNUITY METHOD

The TAM-method is independent of the NBV/age of the underlying asset, does iake into
account the cost of capital and above all corresponds better to the second characteristic of
Economic depreciation: consistency with the changes in the underlying production costs that a
new entrant would experience.

As stated in section 1.1, an ‘economic depreciation” method is characterised by:
1. A Net Present Value equal to the initial investment (Characteristic 1);
2. An evolution that is consistent with the underlying inflation or deflation'® of the asset
purchase price (Characteristic 2).

Translation in mathematical language

Those characteristics form the base from which the TAM method is devised. Translated in
mathematical language it becomes:

ACC,
1. GRC=NPV=Y. T waceT

2. ACC, = ACCx(1+P) (fori=1toL)

With
GRC: Gross Replacement Cost of the investment
L: Lifetime of the asset
ACC: Annual Capital Costinyeari (fori=1tolL)
ACC:  Constant
P: Price trend

% As a consequence the ‘Standard Annuity with Inflationary benefits/ Deflationary losses based on the
average NBV" will not be tackled any further (neither in the conclusion).

1" The concepts ‘inflation’ and ‘deflation’ refer to the technology specific price changes of the
equipment that is depreciated.
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Notice that the second point assumes that the same price change is maintained throughout the
lifetime of the investment; hence the constant price change will be called the price trend.

After using some math on above formulas, it is obtained that for eachi (i=1to L):
1+P

ACC, = GRC,_, x(1+WACC)x — L1+ WACC
1+P

1+WACC

L

Notice that the Standard annuity is a special case of the TAM method, namely TAM with a
price trend equal to (.

Example

o s e | Replacement T L T T T

. _-‘(;ear_ e ‘Dlscognt factork T aloe JNBY: st Gapltql--._ _Ds_p_rec[ai_lun‘

Q 100,00 100

1 0,909 99,00 97,48 12,52 10,00 2,52

2 0,826 8,01 94,83 12,40 -1,00% 9,75 2,85

3 0,751 97,03 82,04 12,27 -1,00% 948 2,79

4 0,683 96,05 89,08 12,15 -1,00% 9,20 2,95

5 0,621 95,10 85,97 12,03 -1,00% 8,91 3.1

] 0,564 94,15 82,68 11,81 -1,00% 8,60 3,3

7 0,513 83,21 78,14 11,79 -1,00% 8,27 3,52

g 0,467 92,27 75,38 1,67 -1,00% 7,91 3,76

a 0,424 91,38 71,36 11,56 -1,00% 7,54 4,024

10 0,386 90,44 67,06 11,44 -1,00% 7,14 4,30

11 0,350 89,53 62,44 11,33 -1,00% 6,71 4,82

12 0,319 88,64 57,47 11,21 -1,00% 6,24 4,97

13 0,299 87,75 52,12 11,10 -1,00% 5,75 5,35

14 0,263 85,87 46,34 10,99 -1,00% 5,21 5,78

15 0,239 86,01 40,09 10,88 -1,00% 4,83 6,2

18| 0,218 85,15 33,33 10,77 -1,00% 4,01 8,76

17 0,198 84,29 26,01 - 10,66 -1,00% 3,33 7,33

18 0,780 83,45 18,05 10,56 -1,00% 2,60 7,964

19 0,164 82,62 9,41 10,45 -1,00% 1,81 8,65

20 0,149 81,78 0,00 10,38 -1.00% 0,94 .41
0,00 100,00 £(4,00]

. Net Present Accumulated
Fesiclual Valus Valug deprealarionJ

Table 9: TAM depreciation method

The CAPEX comes directly from the formula. The cost of capital can be deduced from the
NBV at the end of the previous year. The depreciation is the CAPEX minus the cost of
capital. The depreciation subsequently determines the NBV at the end of the current year.
Note that TAM completely depreciates the initial investrent and results in a NPV equal to the
investment cost.

Furthermore it is clear in the example that the CAPEX evolves the same way as the
purchasing price does, i.e. each year a decreasc of 1% (= price trend). Moreover the ratio
between the total yearly cost and the replacement value remains constant. Thus a new entrant
will have a yearly cost identical to one of an operator that invested earlier.

Note that each year the total yearly cost was determined on the basis of the price trend, the
WACC, the expected total economic lifetime of the investment and the replacement value of
the investment in that year. These are all parameters independent of the age of the underlying
asset. If each year the calculations are made as if one was in the first year, then the results
would still be the same as shown in Table 9.

15

P148



Price trend leverage effect

An important characteristic of the TAM-method is the leverage effect of the price trend:

ACC
ACC, = L~ ACC, ~LxPXACC.
2

(1+P)

The consequence of the leverage effect is that relative small variations in the price trend P
lead to big changes in the CAPEX. The used leverage corresponds to the lifetime L: the
longer L, the bigger the leverage of the price trend.

Due to the leverage effect, the determination of the price trend P is vital. Changing the price
wend in Table 9 to +1% would lead to a CAPEX equal to 10,99, which is 12,2% lower then
the 12,52 in Table 9. Note however that the Tilted Straight-line method"' amplifies the price
change in a similar way.

Small fluctuations in the price trend from one year to another result in big fluctuations in the
final tariffs (See Table 10). Thus the TAM method is only valid for a price trend that is
constant during the entire life of the investment. Consequently it is not always recommended
to use the price change of the previous year as best estimation for the price evolution in the
years to come.

In Table 10 the yearly cost is calculated on the basis of a price trend fluctuating lightly
between —1% and 1% (See column 3). The leverage effect amplifies them to fluctuations up to
15% (See column 7).

e e TAMT o T B L L
_ Repacemant - UNBVT - GAPEX LOAPEX. "Gost ofGaplal . Depiediaton
0 100,00 100
1 8,908 -1,00% 99,00 97,48 12,52 10,00 2,52
2 0,825 1,00% 89,99 96,34 10,88 -13,08% 9,75 1,14
3 9,751 -1,00% 98,99 93,45 12,62 15,04% 9,63 2,89
4 0,683 1,00% 98,38 91,92 10,88 -13,08% 8,35 1,54]
2 0,621 -1,00% 98,98 88,59 12,52 15,04% 9,19 3,39
] 0,564 1,00% 99,97 86,87 10,88 -13,08% 8,86 2,02]
7 0,513 +3,00% 06,87 81,08 14,14 26,53% 8,66 5,48
8 0,467| 1,00% 97,94 78,53 10,66 -24,60% 811 2,58
g 0,424 -1,00% 96,98 74,12 12,26 15,04% 7.85 4,41
10 0,386 1,00% 57,93 70,87 10,66 -13,08% 741 3,25
i1 0,350 -1,00% 96,95 65,50 12,26 15,04% 7,08 5,18
12 0,319 -1,00% 95,98 60,12 12,14 ~1,00% 6,57 5,57
14 0,220 -1,00% 95,02 54,12 12,02 -1.00% 6,01 6,01
14 0,283 -1,00% 94,07 47,63 11,80 +1,00% 54 6,49
15 0,239 -1,00% 93,12 ' 40,61 11,78 -1,00% 4,78
1é 9,218 -1,00% 92,20 33,01 11,66 -1,00% 4,06
17 0,198 -1,00% 81,28 24,77 11,68 -1,00% 3,30
18 0,180 -1,00% 80,37 15,81 1,43 -1,00% 2,48
19 0,164 -1,00% 89,46 €,08 11,32 -1,00% 1,58
20 0,149 -1,00% 88,57 4,52 11,20 -1,00% 0,61 10,60
4,52 100,67 104,52
Net Present Accumulated
Aesidual Valve Vatue dspraciation

Table 10: TAM with fluctuations in the price trend

" In fact, all the FCM methods (see section 2) amplify the price change in 2 similar way.
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1.7. SUMMARY

The BvD analysis of the different depreciation methods started with the simple Straight-line
depreciation (Section 1.2). Two key drawbacks led to the introduction of other methods:
- The difficult integration of the Cost of Capital led to the Standard Anguity
method (Section 1.3);
- The CCA implementation having a NPV different from the initial investment
led to the Tilted Straight line method (Section 1.4}).

The combination of the two key drawbacks led to the ‘Standard Annuity method with
Inflationary benefits/ deflationary losses’ (Section 1.5). A whole new approach did tackle
both drawbacks as well and led to the Tilted Annuity Method (Section 1.6), which matches
the requirements of ‘Economic Depreciation’.

"CAPEXas sun of two sepdrate

"' partst depreciation and cost'af -, - :Inc_o_rpo_raiiqn ofthe.Cost: of: Capitaki:the formula: of the GAPEX'
- capltal : DU T e
NPV not equal-c nttial investment Straight-line depreciation Standard Annuity Method

L T e i Standard Annuity method with
NPY.equal to the initial investiment]  Tilted Straight-line depreciation  Inflationary benefits/ deflationary Tilted Annuity Method
T T R AR : logses :

‘Table 11: Overview of the depreciation methods

Economic depreciation

As stated in section 1.1, an ‘economic depreciation’ method is characterised by:
1. A Net Present Value equal to the initial investment (Characteristic 1);
2. An evolution that is consistent with the underlying inflation or deflation™ of the asset
purchase price (Characteristic 2).

The methods complying are shown in (Characteristic 1) and Figure 2 (Characteristic 2). Note
that only the TAM method is depicted in both figures.

— - HGCA Stralght-ling, Cost of Capital based on NBV
— Iliitad stralghtline {GCA), Gost of Capital basad
B

18.00

- ~ - Standard annuity (HCGA}

18,00 == «~Standard annuity {CCA-FGM)

14,00

12,00

CA
PE 10,00

2,00

6,00

4,00

2,00

0,00

Yeat

Figure 1: Methods with NPV equal fo the initial investment

2 The concepts ‘inflation’ and ‘deflation’ refer to the fechnology specific price changes of the
equipment that is depreciated.
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13,00

12,60 +— =

12,00 e

= = = GCA Stralghtine, Cost of Gapital based on average NBY
— —Standard annuity {GCA-OGM)

~~ - Siandard annuliy (CCA-FCM) with an estimated NBY

11,50

11,00 =

10,60

CAPEX

10,00

9,50 =

9,00

.50

B,00

Figare 2: Methods following the price trend

The depreciation methods can roughly be divided into two groups: Straight-line based and
Standard Annuity based. Lets compare their performance.

Straight-line based depreciation methods

From Figure 3, the Straight-line based depreciation methods can roughly categorised on the
basis of their Cost of Capital calculation: based on NBV on the one hand and based on the
average NBV on the other hand. The huge difference stresses the need for a more integrated
approach, which lead to the Annuity based depreciation methods.

Note that the CAPEX all seem to evolve linearly. Yet with a higher price trend the evolution

of the CCA methods will follow a convex curve.

s HGA Straight-iine, Cost of Capital based on

NBY
- = HCA Straight-lins, Cost of Gapital based on
18,00 average NBY
~——CCA Slraight-ine, Gost of Capital based on
16,00 NBYV
= = = CCA Straight-ine, Cost of Capital baged on
\; average NBYV j
14,00 ‘--m\ —Tig?’d siraight (CGA), Cost of Capital based on|
T, N
12,00 — = = - Tilted straight {CCA), Gost of Gapital based on
S average NBY
a¢ 1000 e e ———]
w L U R,
e . mes
8 s ML AL
4,00
2,00
0,00

Year

Figure 3: Straight-line depreciation Methods
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Annuity based depreciation methods

Figure 4 shows the other ‘Annuity based depreciation

methods’. Note that the vertical axis

only starts at 9, and hence the CAPEX are more or less similar. Only the HCA annuity really

stands out of the pack by having no tilt at all.

=~ = Slandard annully (HGA)
~— —Standard annuily (CCA-QCM)
13,00 —
— —Standard annuily (CCA-FCM)
b
1250 e — =~ Standard annuily (CCA-FCM) with an eslimated NBV
* T
T el M e TAM
- R
12,00 ———— 2o
- - e,
_——— e . = = T N i e
- e .
11,50 — S
T - T =
— - —
] - e
% 1100 —— S T
o h'"‘"--..._ el el e,
— S Tl
10,50 — =T —
T ~
—— - -
10,00 S =
— -
—_—T
2.60
9,00

1 2 3 4 5 8 7 8 ] 10 1" 12
Year

13 14 15 1€ 17 18 19 20

Figure 4: Annuity Methods
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2. CAPITAL MAINTENANCE

The ERG Consultation regarding the BEuropean Commission's Recommendation on
Accounting separation and Cost Accounting outlines stated: There are two different
approaches to Current Cost Accounting (CCA). The approaches differ in their definition of
‘Capital Maintenance’.

This chapter will start off with some further highlights out of the above-mentioned document,
foliowed by BvD's explanations and interpretation. Thereafter BvD analyses the significance
of the Capital Maintenance method when deciding on a depreciation method.

2.1. THE CONCEPT OF CAPITAL MAINTENANCE

The Annex to the “Draft ERG Opinion on the proposed Review of the Recommendation on
Cost Accounting and Accounting Separation” discusses Capital Maintenance”. Some
important highlights include.

‘There are two different approaches to Current Cost Accounting (CCA). The
approaches differ in their definition of ‘capital maintenance’:

- OCM: Operating Capital Maintenance requires that the company
has as much operating capability (productive capacity) at the end of
the period as at the beginning,

- FCM: Financial Capital Maintenance considers the financial capital
of the company is maintained in current price terms. Capital is
assumed to be maintained if shareholders' funds at the end of the
period are maintained in real terms at the same level as at the
beginning of the period.’

“The effects of the methods are not the same.”

The main adjustments under OCM
“‘One of the signification adjustmenis relates to the revaluation of fixed assets to

current cost. Due to this revaluation additional adjustments are then required to
restate depreciation amounis.’

Further adjustments under financial capital maintenance (FCM)

“Under FCM ... further adjusted to take into account holding gains or losses that
arise due to the effect of asset-specific price change on the current cost value of
assets and the effect of general inflation on shareholders” funds.’

The choice of capital maintenance concept
‘If OCM was used to determine charges, the revenue requirement would be derived

as the sum of operating costs, historical cost depreciation, supplementary
depreciation and a return on net assets. Under FCM, the revenue requirement would
be the sum of operating costs, historical cost depreciation, supplementary
depreciation and a return on net assets less holding gains/losses plus the adjustment
to shareholders' funds. Required revenue therefore differs depending on the capital
maintenance concept used.’

" See page 28 and further.

20

P153



Interpretation and examples

The choice of a Capital Maintenance concept has practical consequences for the
implementation of the depreciation method, more specifically for the 1mplementat10n of the
CCA-revaluation, which causes windfall gains or losses, called capital gains/losses' by the
ERG. The OCM principle advocates that these should not be taken into account. The FCM
principle on the contrary defends a compensation for these windfall gains or losses.

Since the Annex to the “Draft ERG Opinion on the proposed Review of the Recommendation
on cost accounting separation” remains quite general and high-level in its explanations, some
practical examples follow based on the interpretation by the BvD consultants.

Operating Capital Maintenance
The ERG document already contains a practical example of an implementation of a
depreciation method (without considering the cost of capital). BvD implemented an example
analogous to the given example, but using an initial investment of 100, a price trend of -1%
and a total life time of 20 years, instead of the ERG’s initial invesiment of 10.000, price trend
of —10% and life time of 4 years.

[ 100,00

1 99,00] 4,85 5,00 -005 4,95 4,95 0,09

2 98,01 4580 500 -0,10 9,85 9,80 -0,05

3 97,03 4,85 500 -0,15 14,70 14,55 -0,15]

4 98,06 4,80 500 -0,20 18,50 19,21 -0,29)

5 95,10} 4,75 540 -0,25 24,26 23,77 -0,49)

& 94,15 41 5,00 -0,29 28,87 28,24 -0,72]

7 23,21 4,66 5,00 -0,34 3,63 32,62 -1.01

8 92,27 4,61 5,00 -0,39 38,24 38,91 -1,33)

2 91,35 4,57 £,00 -0,43 42,81 41,11 -1,70)
10 90,44 4,52 5,00 -0,48 47,33 45,22 -2,11
" 89,53 4,48 5,00 -0.52 51,81 49,24 -2,56
12 88,64 4,43 5,00 -0,57 56,24 53,18 -3,08]
13 87,75 4,34 5,00 -0.81 60,63 57,04 -3,59)
14 86,97 4,34 500 -0,66 64,97 60,81 -4,1B;
15 86,01 4,30 5,00 -0,70 69,27 64,50 -4,77
16 85,15 4,26 5,00 -0,74 73,53 88,12 -5
17 84,20 4,21 5,00 -0,79 71,74 71,65 -6,09
18 $3,45] 4,17 5,00 -0,83 81,92 7511 -6,81
i9 82,62 413 5,00 -0,87 86,05 78,49 -7.56)
20 81,79 ﬂ 5,00 09 a0,14 81,79 -8,25)

90,14
Accumulated
depreciation

Table 12: Depreciation following OCM with a price trend = -1% (Straight-line)

Observation of Table 12 learns that the accumulated depreciation (90,14) exceeds the required
investment at the end of the asset’s life (81,79), otherwise told more ‘operating capital’ than
necessary is maintained. With the benefit of hindsight, i.e. once in year 20, it is easy to see
that the required annual depreciation was a mere 4,09. As a consequence too much is
depreciated each year, except the last year. However no correction with retroactive effect is
made, since CCA doesn’t take into account ‘sunk’ costs/revenues, only ‘current’ Costs.
Ideally, nevertheless impossible, is to use the future replacement costs. As such the Operating
Capital Maintenance principle is implemented on a best effort basis.

" ByD did call these windfall gains/losses inflationary benefits or deflationary losses in earlier
sections.
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The ‘financial capital’ (100) on the contrary is insufficiently maintained in the accurnulated
depreciation (90,14), since the current cost depreciation consistently falls short of the
historical cost depreciation.

For the sake of completeness an example with a positive price trend of 1% is added.

__ Operaiing:CapilakMaintenance - .- .
S . . SR - . Depreciation,(Nogapiaticostly . T ot e T e
vear . |- Curant Gost .} CurrentCost- " Historical.". ;- Supplementary Cumilalive . " Requlred’” " "’ Backlog "

[7] 109,00

1 101,00 5,056 5,00 0,05 5,05 5,05 0,00

4 102,01 5,10 5,00 0,10 10,15 10,20 0,05

3 103,03 5,15 5,00 0,15 15,30 15,45 0,15}

4 104,08 5,20 5,00 0,20 20,51 20,81 0,31

& 105,10 5,26 5,00 0,26 25,76 26,28 0,52

& 106,15 531 5,00 0,31 31,07 31,85 0,78

7 107,21 5,36 5,00 0,36 36,43 37,52 1,10

8 108,29 5,41 5,00 0,41 41,84 43,31 1,47

g 109,37 5,47 5,00 0,47 47,31 48,22 1,80
16 110,48 5,52 5,00 0,52 52,83 55,23 2,40
11 111,67 558 500 0,58 58,41 61,36 2,88
12 112,68 5,63 5,00 0,83 64,05 67,61 3,56
13 113,81 5,60 5,00 0,69 69,74 73,98 4,24
14 114,95 5,75 5,00 0,75 75,48 80,48 4,98
15 116,10 5,80 5,00 0,80 81,29 87,07 5,78
16 117,28 586! 5,00 0,86 87,15 93,81 6,65
i7 118,43 5,92 5,00 0,92 63,07 100,67 7,59
18 118,61 5,98/ 500 0,98 99,05 107,85 8,60
19 12081 6,04 5,00 1,04 105,10 114,77 9,68
20 122,02 6,10/ 5,00 1,10 111,20 122,02 10,82

111,28
Aceumulated
depreciation

Table 13: Depreciation following OQCM with a price trend = +1% (Straight-line)

Table 13 shows that the accumulated depreciation (111,20) now fails to cover the required
investment on the end of the assets life (122,02}, i.e. the ‘operating capital’ is not maintained.
However again the implementation is on a best effort basis.

Financial Capital Maintenance

The ‘Annex: Accounting Separation and Cost Accounting’ does not contain an elaborated
example following the FCM principle. The recommendation does nonetheless state it is
similar to following OCM with the exception of adding a Capital gain/loss and incorporating
the effect of general inflation to sharcholders’ funds. The interpretation of BvD results in
Table 14.

The accumulated depreciation in Table 14 (100) is exactly the same as the initial investment
(100); as such the ‘financial capital’ is maintained. Note that accumulated depreciation
exceeds the investment required to replace the assct at the end of its life (81,79), i.e. too much
‘operating capital’ is maintained.

The effect of general inflation on shareholders’ funds is not tackled in the above
implementation as it can easily be incorporated in an indirect way. Either the inflation is taken
into account when calculating the appropriate WACC, which will be the nominal WACC
instead of the real WACC. Another possibility is to add in each year a cost of inflation
(benefit of deflation), which is calculated in a similar way as the capital gain/loss: the NBV is
reduced with the rate of inflation {(deflation). The loss in NBV has to be compensated through
a charge augmenting the yearly depreciation.
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R ostaner - COSTDelore ; alter - Bo fore. - - o e e
. Year ey et Gost - revalugtion . revaluation . revafuation.” - revaluztion . .- Capltaligalifioss]. - GCA(FEMY
0 100,00 5,00 —

H 99,00, 4,95 5,00 99,00 160,00 -1,00
2 08,01 4,80 4,95 83,11 84,08 -0,94
8 97,03 4,85 4,90 87,33 28,21 -0,88]
4 96,06 4,80 4,85 81,65 8z48 -U,BZF
5 95,10 4,75 4,80 78,08 76,35 -0.77
& 94,15 4,1 4,76 70,61 71,32 -6,71
7 93,21 4,66 471 65,24 65,90 -0,66
8 92,27 4,61 4,66 58,98 60,58 -0,81
g 91,35 4,57 4,61 54,81 55,36 -0,55)
10 90,44 4,62 4,57 48,74 50,24 0,50
i1 89,53 4,48 4,52 44,77 45,22 -0,45
i2 88,64 4,43 4,48 39,89 40,29 -0,40
i3 87,75 4,39 443 35,10 35,46 -0,35
14 88,87 4,34 4,39 30,41 30,1 -0,31
i5 88,01 4,30 4,34 25,80 28,06 -0,284
16 85,15| 4,26 4,30 21,29 21,50 -0,22
17 84,29 421 4,26 16,86 17,08 -0,17
18 83,45 4,17 4,21 12,52 12,64 -0,13
19 82,62, 4,13 417 8,26 8,35 -0,08
20 81,79 4,09 4,13 4,09 4,13 -0,04

Accumuiated

Depreciation

Table 14: Depreciation following FCM with a price trend = -1% (Straight-line)

2.2, THE STRAIGHT-LINE METHOD

The example” of the depreciation following OCM uses in fact the straight-line method with
Current Cost Accounting, which is indeed a depreciation method that does not take into
account windfall gains or losses due to CCA-revaluation. Table 15 places the Straight-line
method (CCA) as described in section 1.2 next to the OCM example of section 2.1 (see Table
12) to illustrate the correspondence.

I__ o BtraightlineCORY -] e T OB T e
- Year ... CurenliCost] - NBV: . - Dspregialicn -] Current:Costi: - Historipal :“Supplementary. - Cumilative™ - -REgulred .~ . Bagklog
4 1
1 99,00 84,05 4,95] 4,85 500 -0,05 4,95 4,85 0,00}
2 980 88,21 4,90 4,40 5,00 0,10 8,85 9,80 -0,05]
3 97,03 82,48 4,85 4,85 5,00 0,15 14,70 14,85 -0,15}
4 96,06 76,88 4,80 4,80 5,00 6,20 19,50 19,21 -(,29)
& 45,10 71,32 4,75, 4,75 500 0,25 24,26 23,77 0,48
& 84,15 65,90 4.1 4,71 5,00 -0,29 28,57 28,24 -0,72]
7 83,21 60,58 4,66 4,66 5,00 -0,34 33,63 32,62 -1,61
8 92,2 55,38 461 4,61 5,00 -0,39 88,24 36,41 1,33
9 91,35 £0,24 4,57 4,87 5,00 -0,43 42,81 41,31 -1,70
10 90,44 45,22 4,52 4,52 5,00 -0.48 47,33 45,22 =2n
11 89,53 40,29 4,48 448 5,00 052 51,81 49,24 -2,58]
12 88,64 35,46 4,43 4,43 5,00 -057 56,24 53,18 -3,08)
13 87,74 a6, 4,39 4,39 §,00 -061 60,63 57,04 -3,5¢]
14 86,8 26,08 4,34 4,34 5,00 0,56 64,97 60,81 -4,16]
15 86,01 21.50 4,30 4,30 5,00 -0,70 69,27 64,50 -4,7H
16 85,15 17.03 4,264 4,26 5,00 -0,74 7353 68,12 -5
17 84,20 12.64 4,21 4,21 5,00 0,79 77,74 71,65 -8,08,
18 §3,48) 8,35 4,17| 417 5,00 -0,83 8192 75,11 -6,81
18 82,62 4,13 4,13 413 5,00 -0,87 86,00 78,49 ~7.58
20 81,79) 0,00 4,08 4,00 5,00 -0,91 50,14 81,79 -B,35
90,13 90,14
Accumulated | Accumulated
deprecialion | depreciation

Table 15: The OCM example placed next to the straight-line method

1% The example as given in Table 12 is based on the example on page 29 of the Annex to the “Draft
Opinion on the proposed Review of the Recommendation on cost accounting and accounting
separation”
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2.3. THE TILTED STRAIGHT-LINE METHOD

Remember that the Tilted Straight Line method is based on the Straight Line method, but adds
an exira term/tilt so that the CAPEX is corrected with the costs of deflation (benefits of
inflation). The Tilied Straight Line corrects the Straight Line depreciation so that it complies
with the second characteristic of ‘Economic Depreciation’. The latter is implemented in such
a way that a new entrant will suffer similar annual costs if assets are depreciated Straight-line
from that moment on.

Table 16 clearly shows that the Tilted straight-line method corresponds with the BvD
interpretation of depreciation following FCM (See Table 14), which is no surprise given that
the method takes into account the windfall gains or losses caused by the CCA-revalnation.
BvD did call these windfall gains/losses inflationary benefits or deflationary losses in earlier
sections.

- Tilled Strelght-line  depreoiation - o o - LT T Finanglal-Gapltal Maintenance
T IR : ey DeneNial - Dapraatalion - | GOR Costan fraﬂ- TosLbomle | ;] T
| Yenf  Giimat.Cost | * NEV " Deflaflotiary fosses. . {COAY - Tolal'dey i éliatioh' ' .. ‘revaluallon ‘ Gapilal gainloss): - GCA IFCM
a 100,00 100,00 5,00
? 49,00] 94,06 -1.00 4,95 6,95 4,95 5,00 -1,00] 6,85}
2 98,1 e21 0,84 4,90 5,84 490 4.95 -0,94] 5,84]
g 97,09 82,48 -0,88 4,85 5,73 4,85 4,90 -0,06} 5,73
4 96,06] 76,85 -0.82 4,80 5,69 4,80 4,85 -0,824 5,63]
& 95,10 71,32 0,77 475 5,82 475 4,80 -0.77] 5,62]
8 94,15 65,90 0H a7 5,42] 47 4,78 -0,71 5,42
7 95,29 50,68 0,68 4,66 E,32] 4,68 4,74 0,66} 5,32
8 92.27) 56,36 -0,61 4,61 5,224 4,81 4,66 0,81 5,22]
a 81,35, 50,24 0,55 4,57 612 4,57 4,61 0,55 5,12
10 90,44} 45,22 -0,50 4,52 5,02 452 4,57 {0, 50 502
" 89.53 40,29 0,45 448 53] 448 4,52 -0‘43 4,89
12| 8B, 64| 35,46 0,40 4,43 4,83 4,43 448 0.4 4,53
13 87,75] ann 0,33 4,39 4 74) 438 4,43 -0,35] 4,74)
" 86,87| 26,08 0,31 4,34 4,685 4,34 4,39 0,34 4,65/
15| 86,01 21,50 -0,28 4,30 4,56 4,30 4,34 -0.24 %,36|
16 B5,15] 17.03 -0,22 4,28 4,47 4,26 4,30 -0,22] 2,47
17| 84,29 12,64 -6,i7 &21 4,39) &2 4,26 -0,17] 4,39
18 83,45] 835 0,13 417 4,30 417 421 -0,13} 4,30
1] 82,52 4,18 0,08 4,13 4,21 413 4,17 -0,08] 42
20| 81,79| .00 -0,04 4.09 4,13 4,09 413 -0,04] 4,13}
0,00 100,00} 100,40)
. Accumulated Accumulsied
Residual valie Dsera:larfan Depreclation

Table 16: The FCM example placed next to the Tilted straight-line method
2.4, THE STANDARD ANNUITY METHOD

First the standard annuity method without considering inflationary benefits or deflationary
losses is looked at. It thus can be expected to follow the OCM principle.

" Digcount. i
£ o factar ) Valuee s

a 100,00
T 0,909 99,00 11,63 9,90 1,73
2 0,826 8,01 11,51 9,63 1,88
2 0,751 97,63 11,40 9,35 2,05
4 0,683 96,08 11,28 9,05 2,23
& 9,621 95,10 11,17 8,74 243
& 0,564 94,15 11,08 841 2,65
7 6,513 93,21 10,95 8,07 2,88
8 0,467 92,27 10,34 7,70 3,14
2 0,924 91,35 10,73 781 342
10 0,388 90,44 10,62 590 3,72
it 0,350 29,63 10,52 6,46 4,05
12 0,313 88,64 16,41 640 4,42
12 0,230 87,75 16,31 5,50 4,81
14 0,268 86,87 10,20 4,97 5,24
15 0,238 86,04 10,10 4,40 5,70
16 0,218 85,15 10,00 3,79 6,21
17 0,158 84,29 9,90 314 6,76
18 0.160 83,46 9,50 2,44 7,36
19 0,164 82,52 8,70 168 8,02
20 0,149 81,79 9,61 0,87 8,73
() 02,86 Bl

N Net Prasent Accumulated
Residual Veive Valug depreciation

Table 17; Standard Annuity Method without considering inflationary benefits deflationary losses
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Note that the accumulated depreciation (92,86) is bigger than the replacement value at the end
of the asset’s lifetime (81,79), so more operating capital is maintained than strictly necessary.
With the benefit of hindsight, i.e. once in year 20, it is easy to see that the required annual
CAPEX was a mere 9,61 and as a consequence too much is depreciated each year, excepi the
last year. However no correction with retroactive effect is made, since CCA doesn’t take into
account, ‘sunk’ costs/revenues, only ‘current’ costs. As such the Operating Capital
Maintenance principle is implemented on a best effort basis.

2.8. THE STANDARD ANNUITY WITH INFLATIONARY BENEFITS/ DEFLATIONARY LOSSES

Standard Annuity with inflationary benefits/ deflationary losses does take into account the
windfall gains/losses and as such can be expected to follow the FCM principle. Indeed Table
18 shows that the accumulated depreciation (100) is equal to the initial investment, which
means that the Financial Capital is maintained.

L N ... Slandard:annully. wl th-intlationaey behel Ts/ Deflallonarylosses. = S ;
X DiscoUnt' | -Réplacement ~ oy . CAPEX en Delia Costof -, Inflationary-Berafitsl I -Gostol - L
YRR Cactor _Malus - NBV __roplrgemsnt value - Gapilal - - - Deflallodary foeses: - Totdl CAREX] - “Gapital ‘DEP—TEBEHOD-
o 106,00 100,00
H 0,909 99,00 97,27 11,63 0,1¢ 1,00 12,73 10,00 2,73
2 0,826 98,01 94,42 11,51 0,10 0,97 12,58 73 2,88
3 0,751 97,03 81,42 11,40 0,09 0,94 12,44 9,44 2,99
4 0,683 96,08 88,28 11,28 0,09 0N 2,29 9,14 3,15
& 0,621 85,10 84,96 11,17 0,09 0,88 12,14 8,82 3,31
] 0,564 84,15 8147 11,08 0,08 0,85 11,89 8,50 3,80
7 0,513 83,21 AL 10,65 .08 0,81 11,84 8,15 3,70
8 2,467| 92,27 7385 10,84 0,08 0,78 11,88 778 3,92
] 0,424 9135 69,69 10,73 0,07 0,74 11,54 7,39 4,16
10| 0,388 90,44 6527 10,62 0,07 0,70 11,39 6,97 4,42
11 0,350 89,53 60,57 10,52 0,07 0,65 11,28 E,53 4.1
12 0,313 88,54 55,54 10,41 0,06 G681 11,08 6,08 5,02
13 03,290 87,76 50,18 10,31 008 056 10,92 5,65 5,36
14 0,263 86,87 44,44 10,20 0,056 0,50 10,78 5,02 574
15 0,239 86,01 38,30 10,10 0,04 0,44 10,59 4,44 6,15
18 a,218 85,15 31,70 10,00 004 088 10,42 383 6,59
17 o,158 84,29 24.62 9,90 0,03 032 10,25 347 7.08
18 0,180 83,45 17.01 9,80 0,02 0,25 106,07/ 2,48 761
18 0,164 g2,62 8.82 9,70 0,02 217 2,89 1,70 8,19
20 0,149 81,79 0,00 9,61 0,01 0,09 8,70 0,88 8,82
om0 100,00
Aesidual Net Presen! Agcumiated
Value Vahie depreciation

Table 18: The Standard Annuity with inflationary benefits/ defiationary losses
2.6. THE TILTED ANNUITY METHOD

The Tilted Annuity Method (TAM) is a bit more complex, since the windfall gains and losses
are only implicitly taken account of, i.e. they are spread over the whole lifetime of the asset.

o | ooty | PR i oapex | ConCar Dupeon | Sipien | gtbiee S ouetess Pk

o 100,00 100
1 6,905 99,00 97,48 12,52 10,60 2,53 495 2,43 -1,004
2 6,82¢] 98,01 4,83 12,40 9,75 2,80 480 2,25 0,94}
3| @751 97,03 92,04 1227 a48 2,79] 4,85 2,08 0,88}
4 @689 96,08 89,09 1215 9,20 2,95 4,50 188 0,62}
8 8,821 5,10 85,97 12,03 881 3,12 4,75 1,84 -0.77)
B 0564 24,15 82,66 11,91 8,60 3,31 4ATH 140 -0
7| 0513 a2 79,14 11,78 8.27 8,54 486 1,14 -0,66]
a 0.467| 92,27 75,88 1167 791 3,74 4,81 0.86 -0.61
g D424 9135 7,38 11,56 T84 4,02 457 0,56 -0,55
10| 0,3861 90,44 87,08 144 7,14 4,30] 4,52 0,22 -0.50
i 0,350 89.53 82,44 1,83 N 4,62 4,48 0,14 -0.45;
72| 0,319] 82,84 5747 2 6,24 4,97 4,43 -0.54 -0,40}
13 0,290 87,76 g2 11,10 575 5,34 43% -0,97 -0,25}
14 2,265 88,87 45,34 10,99 52 5,78} 434 143 -0,31)
15 0,239 86,01 40,08 1082 4,63 6,24 4,30 1,84 -0, 25}
16| 0,218 85,15 33,33 10.77 01 B,78) 4,26 2,50 0,22
17| @ 188 84,29 28,01 10,66 333 7.23 421 41 017
18] @, 10| 83,45 18,05 10,56 2,60 417 3,78 -0,13]
19| Q154] B282 9.41 10,45 1.81 413 -H51 -0,08|
204 0,149 51,78 ] 10,35 0.94 4,08 -5.32 0,04
0,00 105,00 100,00 0,49 +0,48)

Net Present Accumulated
Resldval Vaiue Valae dtepreciation Average Avorage
. s
Table 19: Tilted Annuity Method
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The accumnulated depreciation (100} in Table 19 is equal to the initial investment (100),
which indicates that the Financial Capital is maintained (=FCM). TAM however only
determines the capital gain/loss implicitly.

The last two columns show the difference between the capital gain/loss according to TAM
and the capital gain/loss according to Straight-line depreciation following FCM. The average
capital gain/loss is equal in both cases. It is thus correct to say that TAM spreads the capital
gain/ loss over the whole lifetime of the asset,

Spreading the capital gain/loss however implies it is not guaranteed that the Financial capital
to be maintained in all cases. Namely when price fluctuations occur, the constant price irend
is not adhered to and as consequence the accumulated depreciation can defer from the initial
investment.

2.7, FINAL REMARKS

Remark that the fulfilment of the first characteristic of ‘Economic Depreciation’ necessarily
leads to the FCM approach: An economic depreciation methodology results in a CAPEX that
ensures the recuperation of the initial investment and a reasonable remuneration of the capital
employed, but without any further profit or loss, i.e. the Net Present Value (NPV) equals the
initial investment. '

The other remark comes back to the leverage of the price change when using the FCM
approach. If the estimate of the price change is difficult to obtain, it can result in large
fluctnations in the tariffs, Moreover the risk exists that the price change used does not
correspond with the actual evolution of the replacement values from year to year. Therefore
estimating the price change deserves careful attention.
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3. CONCLUSION

Different depreciations methods have been analysed in the previous two sections. The first
section focused on the characteristics of an ‘economic depreciation’. The second section then
elaboraied on the Capital Maintenance principle.

As a result many elements were analysed. Table 20 indicates for the most important
depreciation methods which of the following characteristics they possess:

- NPV = Initial investment

- Consistency of the CAPEX with the underlying costs

- The CAPEX does not jump at the moment the old asset is renewed.

- CCA, as opposed to HCA

- FCM, as opposed to OCM

- NBV is not needed

Straight-line

HCA, Cost of Capital based on NBY

HGA, Cost of Capital based on average NBV

CGA, Cost of Capital based on NBY

GCA, Cost of Capital based on average NBV
Tilted Straight-line

CCA, Cost of Capital based on NBV

CCA, Caost of Capital based on average NBY
Standard annuity

HCA

CCA-OCM

CCA-FCM
TAM

Table 20: Overview of characteristics of the various depreciation methodologies
Clarification of the annotations in Table 20:

(1) The HCA Straighi-line method with cost of capital based on the NBV and the
HCA Annuity method have an NPV equal to the initial investment and thus
maintain strictly speaking the financial capital. However FCM and OCM are
both approaches to CCA, which the aforementioned do not implement.

(2) The CCA Straight-line method with Cost of Capital based on the average
NBYV, the CCA-OCM Standard Annuity method and TAM are consistent with
the underlying costs as their CAPEX evolve at same rate as the underlying
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costs (See Figure 2). In the case of TAM the necessary condition is that the
underlying costs follow a constant price trend.

(3) The CCA Tilted Straight-line method with Cost of Capital based on the NBV,
the CCA Tilted Straight-line method with Cost of Capital based on the
average NBV and the CCA-FCM Standard Anmuity method are consistent
with the underlying costs in so far that the underlying costs are expected to
remain at their current price levels after they changed in the year considered.

(4) The CCA Tilted Straight-line method with Cost of Capital based on the
average NBV does not have an NPV equal to the initial investment and so
strictly speaking does not maintain the financial capital. Then again the
accumulated depreciated is equal to the initial investment. In the end, BvD
prefers to look at the depreciation part when determining the Capital
Maintenance method, as the ERG document focuses on depreciations as well.

(5) For the HCA Straight-line method with cosi of capital based on the average
NBV and the HCA Standard Annuity, it can be defended that the NBV is not
needed, but the Historical purchase price would be needed instead, and thus
the burden remains.

(6) The HCA Straight-line method with the cost of capital based on the average
NBYV and the CCA Tilted Straight-line method with the cost of capital based
on the average NBV do have a jump in CAPEX when the written-off asset is
replaced with a new one, however the jump is not quite as large as their
counterparts with the cost of capital based on the NBV, instead of the average

NBYV,
— - CCA Straight-iine, Cost of Capital based on average
NBY
=— = Tilted straight (CCA), Cost of Capital based on NBY
18,00 M
= = - Standard annuity (CCA-QCM)
18,00 = weem =~Standard annuity {CCA-FCM) L
-~ e TAM
14,00

12,00

10,00

CAPEX

6,00 "

4,00

2,00

0,00

1 2 3 4 5 -] 7 8 9 10 11 12 13 14 16 1% 17 18 19 20
Year
Figure 5: The five best depreciation methods according to Table 20

Table 20 gives a good first impression of the adequateness of a depreciation method. Five
methods seem to satisfy the conditions in an acceptable way, namely (See Figure 5):

- The CCA Straight-line method with Cost of Capital based on the average
NBYV;
- The CCA Tilted Straight-line method with Cost of Capital based on the NBV;
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- The CCA-OCM Standard Annuity meihod,;
- The CCA-FCM Standard Annuity method;
- And TAM (Tilted Annuity Method).

Table 20 answers in a yes or no, black or white fashion, which does not allow to differentiate
shades of grey. Figure 5 plotted the CAPEX of the five methods and indeed it can be seen that
two methods greatly differ from the others:

- The CCA Straighi-line method with Cost of Capital based on the average
NBYV lies well beneath the others. The consequence is that the NPV (79,46)
does not compare to the initial invesiment (100). As a result BvD would not
recomnmend it as an appropriate depreciation method.

- The CAPEX of the CCA Tilted Straight-line method with Cost of Capital
based on the NBV declines much steeper then the others, which is for a large
part due to the fast decline in cost of capital, and for a smaller part due to the
tilt. Moreover the use of a Cost of Capital based on the NBV has an even
worse effect when replacing an old asset with a new one, as it canses a shock
in CAPEX with a magnitude that makes the method entirely inappropriate.

As a result only three depreciation methods remain appropriate (See Figure 6):

13,00

- The CCA-OCM Standard Annuity method;
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Tigure 6: The three best depreciation methods

The thres remaining depreciation methods have in common that the calculation of the cost of
capital cannot be separated from the calculation of the depreciation cost. The only formula
used is to determine the CAPEX. As a result, the determination of the capital required during
the year is sidestepped as an issue.

On the other hand important differences do exist between the three depreciation methods, as
can be seen in the following surnmary:
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The CCA-QCM Standard Apnuity method is the only method, which follows the OCM
principle. As a consequence the majntenance of the financial capital is not guaranteed or said
otherwise the NPV will not equal the initial investment.

The main advantage of the method is that the price change does not have a large impact on the
method; no leverage effect of the price change is present. As a consequence, it is the method
of choice when a lot of uncertainty exists about the current price change.

The CCA-FCM_Standard Annuity method is the counterpart of the CCA-OCM Standard
Annuity method and is arguable the lesser of the three, as the age of the asset is needed or
needs to be assumed and the CAPEX makes a jump on replacement of the asset.

However the CCA-FCM Standard Annuity method is appropriate when the current price
change can easily be determined and when no further price changes are expected in the future
(or when the best estimate of them is 0%), as this corresponds with the underlying assumption
of the method.

The Tilted Annuity Method is the only method that got a complete green light in Table 20.
The main drawback includes that TAM assumes a constant price trend over the total lifetime
of the asset. As a consequence it is the preferred method when the price trend is expected to
remain constant for a considerable time to come.

Closing remark

Fven at the end of the elaborate analysis of different depreciation methods no obvious
preferred method can be found. BvD is convinced that the outcome strongly depends on the
peculiarities of the situation. This document does provide extensive information up to the
point at which the decision process moves away from the technical understanding part
towards the mapagerial part of making trade-offs and weighing arguments, in which BvD has
build up extensive expertise.
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BUREAU VAN DIJK MANAGEMENT CONSULTANTS
TELECOMMUNICATION SERVICES

The telecommunications landscape is continuing to undergo profound changes. The growing
tendency towards liberalisation and privatisation, together with the emergence of new services
brings along new markets, demanding new insights, new partners and new strategies.

Active since the early stage of the liberalisation of the telecommunications sector in Western
Europe, Bureau van Dijk Management Consultants has acquired an extensive expertise in a
broad range of issues related to the regulation of this sector,

Throughout the years, we have built a clientele amongst governmental institutions, as well as
privately owned businesses around the world, with which we are renowned for our pragmatic

approach in close collaboration with the client and focus on the transfer of know-how. We
have advised on a whole spectrum of regulatory and competition issues facing the
telecommunications industry and regulatory policy makers, constantly focussing on new or
expected evolutions.

Bureau van Dijk Management Consultants works side-by-side with their clients, to guide and
support them with detailed analyses, clear insights, sector expertise and invaluable software
tools. Because of our long-term focus on the telecommunications industry, our consultanis
have the direct hands-on experience and the expertise to deliver excellence, every time, in
time.

Tine Debusschere
] Head of the Department

BUREAU van DIJK BUREAU van DLJK
Tine Debusschere Svetlana Juin
Head of Telecom Departmant Account Manager
250, av, Louise - bte 14 - B~1050 Brussels (Belgium) 57, hd. de Montmerency - F-75016 Paris
Tel, +32 2639 06 06 - Fax 1 +32 2 648 82 30 Tel. +33 14524 49 10 - Fax : +33 1452508 04
e-mail: tde@bvdme.com s-mall: sju@bvdic.com
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Ofcom's MCT cost Model Page 1 of 2

Ofcom

Dear Sir/fMadam

The terms and conditions on which Ofcom is making available the model are set out
below.

Except to the extent where it is owned by a third party, all right, title and interest in
the provided model (the 'Model’) constructed in Excel to understand the cost of voice
termination on the mobile networks of combined 2G and 3G and 3G-only operators
are owned by Ofcom. Such title and interest is protected by United Kingdom
intellectual property laws and international treaty provisions. While you may freely
use the Model for the purposes for which it is provided, as set out in the introductory
sections of the accompanying model documentation, it is not to be modified in any
way or used for commercial gain or otherwise without the prior written permission of
Ofcom.

No representation or warranty is given as to the accuracy, completeness or
correctness of the provided Model and it is provided 'as is'. It is provided without any
representation or endorsement made and without warranty of any kind, whether
express or implied, including but not limited to the implied warranties of satisfactory
quality, fitness for a particular purpose, non-infringement, compatibility, security and
accuracy. ‘

Ofcom does not accept any responsibility for any loss, disruption or damage to your
data or your computer system which may occur whilst using the Model or material
derived from the Model. Ofcom does not warrant that the functions contained in the
Model will be uninterrupted or error free. Also, Ofcom does not warrant that defects
will be corrected, or that the Model provided is free of viruses.

_ In no event will Ofcom be liable for any loss or damage including, without limitation,
indirect or consequential ioss or damage, or any loss or damages whatsoever

arising from use or loss of use of, data or profits arising out of or in connection with
the use or otherwise of the provided Model.

Regards

Ofcom Webmaster

Download LRIC Model Files

Number Model Excel File Size [mb]

0 Scenario control module for the mobile LRIC model |1.5

1 Traffic module for the mobile LRIC model 255

2 Network module for Ofcom mobile LRIC model 12.8

3 Cost modute for Ofcom LRIC model 22.9

4 Economic module for Ofcom new LRIC model 25.9
http://www.ofcom.org.uk/static/wmctr/ 01/10/2012
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Ofcom's MCT cost Model

Page 2 of 2

5 HCA CCA module 9

Return to Wholesale Mobile Call Termination Review (second Consultation)

http://www.ofcom.org.uk/static/wmetr/

01/10/2012
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